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Read the following instructions carefully before you bggin to answer the questions.
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11.
12.

13.

IMPORTANT INSTRUCTIONS

Candidate will be supplied with Paper I Question Booklet 10 minutes before commencement of the Competitive Written
Examination.

Paper I (Time Allotted - 90 minutes)

Subject No. of Questions Maximum Marks Negative Marks
200 g
. There will be no negative
Mental Ability Test 100 (two marks for every marks in this paper
correct answer)

The schedule of Written Examination is as follows, for which the Candidates will be provided Question Paper and OMR
Answer Sheet :

Paper I — between 9.30 AM. —11.00 A.M.
Question Paper and OMR Answer Sheet will have to be returned to Invigilator after the completion of Paper I.
No candidate will be allowed to leave the Examination Hall before completion of Paper I.

Prior to attempting answer, candidates are requested to check whether all the questions are there in series and ensure there
are no blank pages in the Question Booklet. In case any defect in the Question Booklet is noticed, it shall be
reported to the Invigilator immediately and get it replaced with a complete Question Booklet.

Candidate must write their Admit Card No. in the space provided on the top right side of this page. Do not write
anything else on the Question Booklet.

Each question comprises four responses (A), (B), (C) and (D). Candidates are to select ONLY ONE correct response and
mark in the OMR Answer Sheet. The total marks will depend on the number of correct responses marked by the
Candidate in the Answer Sheet.

In the OMR Answer Sheet there are four circles @ , @ and @ against each question. To answer the questions
candidates are to mark with Blue or Black ink Ball point pen ONLY ONE circle for each guestion. If more than
one answer for one question is circled, the answer will be treated as wrong. e.g. If for any item, ‘

candidate have to mark as follows : :

OF NGEO)

Candidates should not remove or tear off any sheet from this Question Booklet. Candidates are not allowed to take the
Question Booklet and the original Answer Sheet out of the Examination Hall. However they can retain the copy of the
Answer Sheet.

Do not make any marking in the Question Booklet except in the sheet(s) at the last page of the Question
Booklet; which can be used for rough work.

is the correct answer,

In all matters and in cases of doubt, the English version shall be final.

Failure to comply with any of the above instructions will render the candidate liable to such action or penalty as may be
decided by the Competent Authority, CSIR-CLRI. .

I have read the instructions given above and the instruction given in the Notification in the CSIR-CLRI website
“www.clri.org” and agree to the same.

Invigilator’s Signature 4 Candidate’s Signature with date
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L AR B H AR 3 @ e 7: 10 31 3% ooy @y 208 ¥l A A I
B YA Rs. 1,000/- S AW qo7aT & @ B &7 AQS 314 frcar g’ '

B (A4)  Rs. 9,000/- (B) Rs. 10,000/-
(C) Rs. 15,000/ (D) Rs. 12,000/-

2. A&ﬁ?BﬁtﬂW%ﬁTmﬁTzoﬁ##qymm%iBamcﬁwmmﬂ
30 et # qU W wEY § AR A IR C Ao 5@ 24 Rell #F @ W @R &, A
A 3hel fohdel Rl 7 #1971 #¥ @ &7

A) 35% R (B) 37y o=t
C) 34y T D) 33% f&=
3. TF U3 9IA GAT & 9 Bre Far ¥l IR & a¥ sadr FOE 1/9 9% Sy gl o ay
dig 9% &1 Farg fahder gefr?
B (A) 12 e (B) 12.3¢ e
(C) 13 HrT (D) 13.10%E

4. ofg vw AT =@ a¥ W@AR F &, O S a9 F ggelr WAl F HiT qT A grem?
(A)  YHaR (B) HareldX
() fsarR (D) HHIR

A, B 3R C Rs. 7,000/-, Rs. 8,000/~ 3R Rs. 12,000/- $#AA: &7 AT F& U qa@ry

5.
YE HA ¢ | T a¥ & a1G, B N Rs. 3,200/ 3 RE & 7 wvd e §1 per
ey foraar 872
(A) Rs. 16,600/ (B) Rs. 10,000/-

(C) Rs. 21,600/ (D) Rs. 10,800/-

6. %r%m@ﬁﬂﬁ,wmaﬂmﬁaﬁmﬁww%ﬁ;mmg;m
T Rs. 2,000/- & TH TE] ITA W I 25% A A &N B, Afafda & @ @

d aeq & A 7qed 67
(A) Rs. 1,800/ (B) Rs. 1,200/
(C) Rs. 1,600/ (D) Rs. 1,400/-
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Paper -1
MENTAL ABILITY

L The ratio of monthly incomes of A and B is 7 : 10. The ratio of their expenditures 1s -
2 : 3. If each of A and B saves Rs. 1,000/- per month, then what will be the monthly

income of B?

(A) Rs. 9,000/- (B) Rs. 10,000/
(C) Rs. 15,000/- (D) Rs. 12,000/-

2. A and B together can finish a job in 20 days. B and C together can finish the same job
in 30 days. If A and C together can finish it in 24 days, in how many days can A alone
finish the job? ’

(A) 35% days ‘ (B) 37 % days
(C) 34 % days (D) 33 % days

3. A tree is at present 9 feet tall. If every year it grows 1/9th of its height. What will be the
height of the tree after three years?

(A) 12 feet (B) 12.34 feet
(C) 13 feet (D) 13.10 feet
4, If first March of a year is Sunday, which day will be the first February of the next year?
(A) Friday (B) Tuesday
(C) Saturday (D) Monday

5. A, B and C start a business by investing Rs. 7,000/, Rs. 8,000/- and Rs. 12,000/-
respectively. After a year, B get Rs. 3,200/- as his share of profit. What is the total

profit?
(A) Rs. 16,600/- (B) Rs. 10,000/-
(C) Rs. 21,600/- (D) Rs. 10,800/-
6. In a stock clearance sale, a shopkeeper gives 40% off on all his items. He incurs a loss of

25% by selling an item of marked price Rs. 2,000/-, which one of the following is the cost
price of the item?

(A) Rs. 1,800/- (B) Rs. 1,200/
(C) Rs. 1,600/- (D) Rs. 1,400/-
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7. m&ﬂvmﬁmaﬁ‘rmﬁm%a&%la%m#ﬁmaﬂrmaﬁrwmnm
RNIFAANITE AT F @A 3AL |

(A) 75 ay (B) 90a¥

(C) 81 a¥ (D) 84ay¥

8. IE O SN TEAT ¥ ST 10000 F S @ 20, 24 H 30 @ ST @ A £

A 120 : (B) 800
- (C) 80 (D) 83

9, COVIDam%mvﬂmm,aﬁa?mmﬁmﬁmﬁm-memm

T T £
(A) 60 (B) 150
(C) 100 | (D) 120

10. TH qERER I SRt W OEERE 10% AR 5% A FOaR e dar ¥ fw
9 O FEGHT T 20% SACHS (GST) Ssar ¥l ;X frer avg W HfEa Hqew
Rs. 2,000/-, ITgeh T TG I aeciaes Aed ¥ fhder 30 a1 FA I HI gam?

(A) 2.6% FHA : B) 2.6% IfOF

©) & qea ' D) 5.2% HOH

1L 75 e IreREd # Rree Tel BT ST, A FAT 3 20% ewEd @ S
@& 100 B . ' ®) 225 @
(C) 250 A (D) 125 faAah

12, afy fed TEAT # 35%, I HEA & 27% F 416 HOF §, o a7 wear ¥

(A) 5200 (B) 2600
(C) 3900 , (D) 3328
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7. The average age of Raj and his father is 45 years. If the ages of the father and the
grandfather of Raj are respectively two and three times that of Raj, then the age of
Raj’s grandfather is
(A) 75 years (B) 90 years

(C) 81 years (D) 84 years

8. The smallest number which when added to 10000 becomes divisible by 20, 24 and 30 1s

(A) 120 (B) 800
(C) 80 (D) 83
9. How many different word, with or without meaning, can be formed by using the letter
of the word COVID? '
(A) 60 (B) 150
(C) 100 ’ (D) 120
10. A shopkeeper gives two consecutive discount of 10% and 5% respectively on his items.

He then adds 20% GST on his items. If an item has marked price Rs. 2,000/-, how much

more or less of the actual price of the item a customer has to pay?

(A) 2.6% less (B) 2.6% more
(C) Same price (D) 5.2% more
11. How much water is to be added to 75 ml of aléohol, so that the mixture contains 20% of
alcohol?
(A) 100 ml (B) 225 ml
(C) 250 ml (D) 125 ml
12. If 35% of a number is 416 more than 27% of the same number, then the number is
(A) 5200 (B) 2600
(C) 3900 (D) 3328
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ﬁt!r(w.l.a‘m:mmmﬁtmtmmmmmmﬁ:

SRE et & AR Gt o 45 § Pt & wede & o cfEd 5@ TR B
Rrread! caffal & dra @A gl 1 dfFa-1 # P, Q R, S, T ATV A5 & M 3T @l
F @ SfOT A AR E) 92 ¥ A B, C, D, E AR F ¥ ¥ 3 37wl F7 AT Il
$ 37 ¥ WA, awmﬁmﬁmmﬁaﬁmmmq@m
i & g WEEr & AN

S Q¥ U A Iy BE W dor ¥ A S W Q iR F A O W I ¢
%w:g'@Qaﬁrm%agEasarﬁﬁqmwmwaaﬁlBamF#mamﬁa
BFHAFBIRNTHF ifFd $ 30w o) | 3 & B F Fwean w3/ 1 7Y
HART F IR E AP & a¢ & R T WdT I R IR T & g F
fean TS 1 C, A & @l 3R g T W do1 1 T & q@ D & fAwean
gl A AR AE R

13. ffaf@a & @ Fi9 9fFa & ifaw 8 w da1 &7
A S,D B QA € V,C @ P,D

14. ﬁmﬁﬁaﬁﬁmsﬁmﬂ'@%’?
@) A (B) B | € C D) D

15 V3R R & @ R afeadt 8 82
@) T B) a © &= D) TR

16, & a5 cOaEdr F YR W P, A ¥ 3@ YER FfO § S S, B § wafUw ¥ WA
ﬁzﬁﬁrwm:@Tﬁmﬁf@Hﬁ#mﬁdﬁmh
A C ®) D : © E D) F

17, T & @y & Peafaf@a § & S @ 7 07
(A) ngmTaﬁrsﬂT?
(B) V, T fordedd Tsrdr &
(©) F & o@ o 0§ S T F q¢ § g T W E
(D) T 9fFq % fRer tH OR W doT ¥
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Direction (Qs. 13 - 17): Study the following information to answer the given
question: .

Twelve people are sitting in two parallel rows containing six people each, In such a way
that there is an equal distance between adjacent persons. In row-1 P, Q, R, S, Tand V
are seated and all of them are facing South. Inrow-2 A, B, C, D, E and F are seated and
all of them facing North. Therefore, in the given seating arrangement each member
seated in a row faces another member of the other row.

S sits third to right of Q. Either S or Q sits at an extreme end of the line. The one who
faces Q sits second to right of E. Two people sit between B and F. N either B nor F sits
at an extreme end of the line. The immediate neighbour of B faces the person who sits
third to left of P. R and T are immediate neighbours of each other. C sits second to the
left of A. T does not face the immediate neighbour of D.

13.  Who amongst the following sit at extreme end of the rows?
@A) S,D B) QA © v.c - O PD

14. Who amongst the following face S? -

A) A (B) B : (C) C ‘D) D
15. How many persons are seated between V and R?
(A) One (B) Two (C) Three (D) Four

16. P is related to A in the same way as S is related to B based on the given arrangement.
To which of the following is T related to, following the same pattern?

4 C (B) D (C) E (D) F

17.  Which of the following is true regarding T?
(A) FfacesT
(B) Vis an immediate neighbour of T
(C) F faces the one who is second to right of T
(D) T sit at one of the extreme ends of the line

JSA2401 & JSA2402 7 Paper I
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frder (T, 18-20): PafeT or & ¥ o) vF fed 0% & @@ § IR gwfev

T WAF T E
JE Pl AT § S FHg & TERT A8 &2
18, (A) avge B) G
(C) wrEAT (D) faHS=
19. (A) wfeor B) &
©) Mfea s (D) gehrel
20. (A REr , (B) IO
(C) FR & IR | (D) 3

21, fiar 1 3 T 1 IY ¥ 30 I 3T ¥ oW W & AG e P HG 37 GAHI 9K
$r 3 ¥ AT AT g S| qF A FdA g At A F4 2
@A) 8 ® 7 © 5 (D) 12

22. qﬁwmmﬁamaﬁramém%aaammmm%mwam,m
ITAT FT & 192 m2 BN A T HT &1l fhcar §?

(A) 184 m? (B) 196 m?
(C) 204 m?2 (D) 200 m?
23. UH H&A & U fags 3N @l €GAr & 150% F UGS HA AT & IOTAG &
farce wfaerd 72
(A) 80 (B 50
€) 75 | (D) 120

24. AT AN Folad A 3eT T T UF IWBAT 5 Al # QU & T §) gola
Y AT & iy & 80% ¥ IR R # T WAE HAWE 576,000 §| afy &
gfafeer 8 6 &M@ W & ar i 8¢ wiw Iawer # HAa fr afy F2r §2
(A) 4800 (B) 6400
(C) 8000 (D) 7200

95. A, e & dae & AT SF H 10% q¢ AT B mm#mm@mmﬂ
aﬁgé%aﬂtsprzomﬁmaaam. 22,385/~ @, ST 2022 H 37T A Rpger ym
(A) Rs. 18,650/- (B) Rs. 18,000/- ' :
(C) Rs. 19,250/- (D) Rs. 18,500/-

8 3
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Direction (Qs. 18 - 20) : Four of the following four are alike in a certain way
and hence form a group.

Which 1s the one that does not belong to the group?

[ (A)  Break (B)  Change
(Y Spht (D)  Divide
19, @A) Tram (3) Instruct
() Edueate (D)  Advocate
20. (A)  Extend (B) Higher
() Upward (D) Rise
21. Father's age is 30 years more than the son’s age. Ten years hence the father’s age will
become three times the son's age that time. What is son’s present age in years?
(A 8 @By 7 ©) 5 (D) 12

22 If the length of a rectangular field is increased by 20% and the breadth is reduced by
20%, the area of the rectangle will be 192 m2. What is the area of the original

rectangle?
(A) 184 m? (B) 196 m?
(C) 204m? (D) 200 m*
23. Product of one-third of a number and 1560% of another number is what percent of the
product of original number?
(A) 80 (B) 50
(C) 175 (D) 120
24. Amit and Sujit together can complete an assignment of data entry in 5 days. Sujit’s

speed is 80% of Amit’s speed and the total key depressions in the assignment are
5,76,000. What is Amit's speed in key depressions per hour if they work for 8 hours a

day?
(A) 4800 (B) 6400
(C) 8000 (D) 7200
25 Mr. Shamin’s salary in("l‘l‘ilﬂt‘.ﬂ every year by 10% in June. If there is no other increase
or reduction in the salary and his salary in June 2024 was Rs. 22,385/-, what was his
salary in June 2022
(A)  Rs. 18,650/ (B)  Rs. 18,000/-
(C) Rs. 19,250/- (1)) Rs. 18,600/-
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Rrber (W 26-32) PR afr w camrgds e &% A Pfafla gl &
e &

faffer usdt @ o vt & v gfewr sl ufpar & v A (Kligible) 97 a0
IFfeanrt Y §em R waTeER ¥ v Tt AT (Short-listed) FFftgant $1 Je|

et | I 1 1% v VI
wg| B | s |k |s|els| kK |s| g |s]| E|S
A | 2500 | 65 | 7200 | 240 | 5200 | 76 | 3600 | 200 | 4600 | 110 | 5400 | 380
B | 3200 | 220 | 8500 | 420 | 8400 | 190 | 6200 | 320 | 5800 | 180 | 6200 | 430
C | 2800 | 280 | 4500 | 350 | 7600 | 160 | 8200 | 440 | 7300 | 310 | 3700 | 250
D | 2400 | 85 | 4800 | 200 | 2600 | 55 | 7500 | 350 | 3900 | 160 | 4800 360
| 3000 | 120 | 5600 | 280 | 3800 | 75 | 6800 | 280 | 6100 | 260 | 7800 | 520

I | 4800 | 325 | 6400 | 320 | 4400 | 220 | 4700 | 180 | 4900 | 220 | 8800 | 640
i | 6500 | 550 | 7000 | 140 | 6000 | 325 | 5500 | 220 | 8100 | 410 | 2700 | 200

B g S e

26. TG B 9, mqaaeﬁvqﬁmmﬁwqﬁmmmmw
A) V (B) 1V (€) VI (D) I

27.  9g 111 & forw @l T2l & Qeg qw a0 3FAant i Aaa Gear seeT fFaer 7
(A) 6700 (B) 6200 (C) 4200 (D) 5500

28.  9g 1 & fav wft qo4r vF WY § AT A0 A0 3FENEERt o FA HE W oGS aw
3FAEART &1 Fol G (ERANT & d1E U HF e qUiifha) Far §?

Ay 9.5% (B) 12.5% ©)  7.2% D) 6.5%

29. mﬂqﬁwm#ﬁmmtmmaﬂraﬁgﬁmmmaﬁrgmma:
@ HeaTd AT &7
(A) 307 : 369 (B) 73:79 € 6:5 . (D) 9:7

30. ug & fau @sf =gt & A7 9T A0 IFAEERt f FA @EA §, dmeT ge VI F R
a3 Tat @ WY Ue A0 IFAEART H S AT v fraer &2

(A) 45 (B) 50 (C) 60 D) 65
31, fpw wo@ # g IV & faU deg sEficart & o # 99 0 sefeant @ gy
I A 1?7
A) G n r C) E e
32, qavmwaﬂ%mmwwmar#mergﬁmm@mﬁm s+
e 31T F4r 87 E "
A) 6:7 (B) 55:96 (C) 165:278 D) 16: 95
JSA2401 & JSA2402 10

Paper 1


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

Directions (Qs. 26 - 32) Study the following table carefully and answer the
questions which follow :

NumbS)r of Candidates found Eligible and the Number of Candidates Short-listed for
Interviews for a recent Recruitment Process for Six Posts from Different States.

CPost | 1| I v v VI

Sate E | s B |s| E |s |k |s E S| E|S
B s : |s B | s| E S

12500 | 65 | 7200 | 240 | 5200 | 76 | 3600 | 200 | 4600 | 110 | 5400 | 380

-

r__A\
. B 3%90 220 | 8500 | 420 8400 | 190 792997 320_4§8Q97 180 | 6200 | 430

| C | 2800 | 280 | 4500 | 350 | 7600 | 160 | 8200 | 440 | 7300 | 310 | 3700 | 250 |

{ 3

S S

| 12400 | 85 | 4800 | 200 | 2600 | 55 | 7500 | 350 | 3900 | 160 | 4800 | 360
13000 | 120 | 5600 | 280 | 3800 | 75 | 6800 | 280°| 6100 | 260 | 7800 | 520

|

E
F 14800]‘325 6400 | 320 | 4400 | 220 | 4700 | 180 | 4900 | 220 | 8800 | 640
G

l6500 550 | 7000 | 140 | 6000 | 325 | 5500 | 220 | 8100 | 410 | 2700 200l
S-Short-Listed |

e

- E- Eligible

26. From State ‘B’, which post had the highest percentage of candidates short-listed?

AV B) IV (C) VI D) 1I

27. Approximately, what is the average number of candidates found eligible from all States
for Post III? ‘
(A) 6700 (B) 6200 (C) 4200 (D) 5500

28. What is the overall percentage (rounded off to one digit after decimal) of candidates
short-listed over the total number of candidates eligible from all the States together for

Post 1?
(A) 9.5% B) 12.5% C) 7.2% . D) 6.5%

29. What is the ratio between total number of candidates short-listed for all the posts
together from State E and G respectively?

(A) 307 : 369 B) 73:79 (C) 6:5 M) 9:7

30. Total number of candidates found eligible from all States together for Post 1is
approximately what percent of the total number of candidates found eligible from all

States together for Post VI?

(A) 45 (B) 50 ©) 60 D) 65
31. Which State had the lowest percentage of candidates short-listed over eligible for
Post IV?
A) G (B) F (C) E D) C
32. What is the ratio between total number of candidates short-listed from all States
together for posts V and VI respectively?
(A) 6:7 (B) 55:96 (C) 165:278 D) 16:25
JSA2401 & JSA2402 11 Paper I
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Préer (W, 33-37): ¥ WA Prfaf@a el o amuia | 9 CAAEE A =X
IR 3aF WA F 3T &

400 BT AT TF T N TEH AR oSEAr F g w305 &1 or B, 3
T A WY e Bl 12% os¥ Fad R aved § 22% wsfRar dao S e
%l@?mﬁﬁﬁzmmﬁamﬁaﬁrﬁmﬁmﬁaﬁﬂgﬁaﬁm
Fae RE Ao arel TgHt F FEA A OF I &

33. I fohde ds& fgdr aea 872
(A) 18 (B) 126
(C) 108 D) 26

34. fpae =Rt Fao B e 87

A) 55 | ® 117
(C) 96 D) 78

35. @mﬁmmm%ﬂ

(A) 304 | (B) 179
(C) 225 (D) 117
e, e Tl dow areh o B ww, Faw Rl S A o f o dear @
fopdeT gfaerd 87
(A) 38.25 (B) 31.25
(C) 178.25 (D) 81.25
37. mmmmmmmamzmmwmp
(A) 23:25 (B) 12:25
(C) 12:13 (D) T § Fg FE
12 Paper I
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Directions (Qs. 33 - 37) : These questions are based on the following data.
Study it carefully and answer the questions that follow.

In a school having 400 students boys and girls are in the ratio of 3:5 respectively. The
students speak Hindi, English or both the languages. 12% of the boys speak only Hindi,
22% of the girls speak only English. 24% of the total students speak only Hindi and the
number of boys speaking both the languages is six times the number of boys speaking

only Hindi.

33. Total how many boys speak Hindi?
A 18 : (B) 126
(C) 108 . (D) 26

34. How many girls speak only Hindi?
(A) 55 B) 117
(C) 96 (D) 178

35. Total how many students speak English?
(A) 304 3B 79
(C) 225 D) 117

36. Number of girls speaking only Hindi is what percent of the total number of students
speaking only Hindi?
(A) 38.25 ' B) 31.25
(C) 78.25 (D) 81.25

37. What is the respective ratio between the number of boys and girls speaking both the

language?
(A) 23:25 (B) 12:25
C) 12:13 (D) None of these

JSA2401 & JSA2402 13 Paper I
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38.  afy e MRWa o1 #, MADRAS ' NBESBT & &7 # #feq far onel & O 39
YT & BOMBAY # 8 &R :1f3d fFar smeam?
(A) CPNCBX (B) CPNCBZ

(C) CPOCBZ (D) CQOCBZ

89. uw ffwd #s # JEALOUS # BFKKTVP frar srar &1 3@ ®5 # HEARTEN 1

¥ ar smar &2
(A) OFUQBFI (B) BFIQOFU
(C) BFIQUFO (D) UFOQIBF

40.  9f& ARROGANCE %1€ & 3Rt & 39w # sga fam s o ggen 3R dradr, gad
AR oer, I AR Gaar gl @R ear it Alar we ey safEfda ar 93 $r
S STTEAT FIT @i

(A) GANACRROE
(B) GANCRAROE
(C) GNACORRAE
(D) GANCARROE

41. BT F d@ey dfAd § 3 UER § S Fod S " 30T fRE 37
(A) T9IHT (B) mf@ge

(C) e D) oAt

42. & fARag #8 &, CHANDIGARH & DNAHCHRAGI f&@r smar Tl 3@ a2 &

SIKKIM & for@r g7

(A) TJKJKM (B) TJLLJN
(C) MIKKIS . (D) KISMIK
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38.  If in a certain language, MADRAS is-coded as NBESBT, then how BOMBAY will be

coded in the language
(A) CPNCBX (B) CPNCBZ
(C) CPOCBZ (D) CQOCBZ

39. In a certain code, JEALOUS is written as BFKKTVP. How is HEARTEN written in

that code?
(A) OFUQBFI (B) BFIQOFU
(C) BFIQUFO (D) UFOQIBF

40.  If the letters of the word ARROGANCE are interchanged, first and fifth, second and

sixth, third and seventh, fourth and eighth and the position of the ninth remains

unchanged then what will the new arrangement of letter be?
(A) GANACRROE
(B) GANCRAROE
(C) GNACORRAE
(D) GANCARROE

41. ‘Army is related to ‘Soldier’ in the same way as ‘School’ is related to which of the

following?
(A) Peon (B) Principal
(C) Class (D) Students

42. In a certain code CHANDIGARH is written as DNAHCHRAGI. How is SIKKIM

written in that code?
(A) TJKJKM (B) TJLLJN
(C) MIKKIS | (D) KISMIK
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13, PR i # & 9R vw PG 3% 3 e § IR gERT o FE S 89w

T & TAE ¢ S 3N FeEfow EF &2
A) TReter (B) TR
(C) «oer (D) AHAT

44, aﬁﬁrﬂa#ﬂ?ﬁ%ﬂgmﬁﬁ%ﬁmwaa#ﬂmﬂqﬁ?“m-mﬁ

g R gEfog &2
(A) & (B) ol 98
(C) = ' (D) 8 ¥ S G

5. TRAF LA B A 2T R W R 7 A 26 ¥ vawwRa R Sme, o
DECAY =g & fav wfaeufa deansit &1 et Far gem?

(A) 38 ' (B) 41
(C) 40 D) 37

46. gahﬁ,mra:mﬁw%mmr%qﬁwﬁmglma’rmﬁa*a@m
ﬁwﬁ,mmmﬂ%mﬁﬁmmnﬁm .

(A) Feal-uR=EH
(B) 3

(C) ERT-aRaR
(D) TH & FE A

47 3w ak & vE Fen # sl & Rt ®), @ Aot 32 ont AR gg @ E
m%gmzamﬁmmwﬁﬁluﬁwm#aﬁﬁﬁmmﬂﬁwq
gm%,a‘rm@ramma‘?

A) 74 (B) 58
C) 42 (D) 48
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43. Tour of the following five are alike in a certain way and hence form a group. Which is

the one that does not belong to that group?
(A) Kitten (B) Goat
(C) Calf (D) Lamb

44.  Deepika tells Shraddha ‘Your mother’s father’s son is the husband of my sister”. How is

Deepika related to Shraddha?
(A) Sister-in-law (B) Cousin
(C) Aunt (D) None of these

45.  If ‘A’ is substituted by 1, ‘B’ by 2 and so on up to Z’ which is substituted by 26, What
will be sum of the numbers substituted for the word DECAY?

(A) 38 (B) 41
(C) 40 (D) 37

46.  Sushil lives to the North of Rajesh who lives to the West of Kamlesh. Arun who lives to

the South of Sushil will have his house in which direction with respect of Kamlesh?
(A) North-West

(B) North

© Soutfl-West

(D) None of these

47.  On the two subjects offered to a class in their final year, 32 students in all are studying
psychology while a total of 26 students are studying sociology. If 16 students have opted

to specialize in both, what is the strength of the class?
A 14 (B) 58
(C) 42 (D) 48
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fader (9. 48 & 52): PR FEED 1§ AR g7 Al F seER

AT JeUHT oA, mm,m?,wﬁ,m,mnmmﬁmmmﬁwm-

AT T - @, G, R R ww@aF F U gy AETehR HRAST & g
$I TH X Y AN A qEA §, @ HR @ AT FCT GHG FA & AR A AT

gare AR d = #
) oG TREIRTTD IR AT & g A @
(i) AN FR A I T qw WS

(i) & ar el AR T & AR Redh ar w

(iv) ¥a G A ATt & §SF AW @ AT A E
(V) Forwoft o BT B & wgrar w00
(vi) St ar g Reer A & § gar$ arr s £

48.  FASUN HIETFR Fgl AT L2

@) TqWa (B) wE@AS
(C) =g (D) ST & FE G
49. feeelr FiF ST &2
&) A - Foraoft . (B) @ - e
- (©) ool -Fnft (D) 3er AT

50. ffaf@a & & o a1 5w &2
(A) Forholl gars amT H § (B) RN @ # WERET F1r
(C) AT el WETTHR AT A § (D) e =g oy &

51. dUENTg H ARTcPR HidA HRATIAT FHFLm?

(A) AT B) RiE
(C) @ D) T A A& a8
52. w%aﬁﬁﬁmﬁﬁmﬁﬁa—aﬁ#mmmmm#mﬁp
(A) AT - A (B) 9 - Rar
(C) &AJT - Ua (D) o= - RAE
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Directions (Qs. 48 to 52) : Read the following information and answer these
questions. '

Seven managers Sharma, Mishra, Singh, Kulkarni, Rao, Joshi and Nair are to conduct
interviews simultaneously either alone or in pairs at four different
Locations — Surat, Chandigarh, Delhi and Lucknow. Only one wants to travel by rail,
two prefer travelling by car and the rest travel by air.

(1) Sharma is going to Lucknow but neither by car nor by air
(1) Mishra prefers to travel by car

(i)  Neither Joshi nor Nair is going to Delhi

(v) Only those going to Surat travel by road

(v) Kulkarni will assist his friend Mishra.

(v1) The two managers who go to Delhi travel by air

48. Where will Kulkarni conduct the interviews?
(A) Surat (B) Lucknow
(C) Chandigarh (D) None of these

49. Who goes to Delhi?
(A) Mishra-Kulkarni (B) Rao-Singh
(C) Kulkarni-Joshi (D) Data inadequate

50. Which of the following is true?

(A) Kulkarni travels by air (B) Nair will assist Rao

(C) Sharma conducts interviews alone (D) Joshi goes to Chandigarh
51. Who will conduct interviews at Chandigarh?

(A) Nair (B) Singh

(C) Rao (D) None of these

52. Which of the following pairs is different from the other four with regard to mode of

travel?
(A) Sharma-Mishra (B) Rao-Mishra
(C) Nair-Rao (D) Sharma-Singh
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frfafla wa & e Rear (7) & T 93w e aife?

53. 666+ (2.4 x7) = 18b
(A 1.5 B) 2.5
© 05 M b
54. 956 x 753 ="
(A) 723692 ‘ (B) 727398
(C) 710308 (D) 719868
55.  3/8x4/7x?=5376
(A) 30912 ‘ (B) 25144
(C) 24808 (D) 25088
56. [(9)3 x(?)z] +21 =1701
A) 6 - (B) 3
©) 11 D) 7
57. 3.5x24x?7=42
(A) 15 (B) 3
(C) 5 D) 7
s afr X +Y =23 3 XY =126, & @ (X +(Y) = & few w0 2
(A) 250 B) 277
(©) 340 (D) 386
s9.  (19)% x (19)* + (19)' = (19)
(A) 24 B) 8
(C) 6 D) 16
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; . fon?
What should come in place of the question mark (?) in the following question?

53. 666 ~ (2.4 x?) =185
A 1.5 B) 2.5
C) o5 (D) 5

54. 956 x 753 =2
(A) 723692 (B) 727398
(C) 710308 ' (D) 719868

55. 3/8 x 4/7Tx?=5376
(A) 30912 (B) 25144
(C) 24808 (D) 25088

56. [(9)3 x (?)2] +21 =1701
A 6 ' (B) 3
) 11 D) 7

57. 3.6x24x?=42
A) 1.5 B) 3
(C) 5 @) 7

58. If X +Y =23 and XY = 126; what is the value of (X)) + (Y)? =2
(A) 250 | ‘ B) 277

(C) 340 . (D) 386

59.  (19)"* x (19)® + (19)" = (19)

(A) 24 (B) 8
© 6 D) 16
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60. faTafRd FEar s@ar & g REa (?) & TS 9T FAr AT Afee?

8 20 50 125 ?  781.25

(A) 300 (B) 295.5
(C) 315 (D) 3125

GET IT ON
Google Play

61. UH I A FATEAT 189000 ¥l Tgw ¥ ¥ ug 8% ©e A & IR g@y a9 H 5% T

ST Bl 2 a¥ &F 3T H AT A FIEEr Faah 872

(A) 193914 (B) 185472
(C) 182574 (D) 191394

62. ?% &1 920 x 7.5 = 2898

(A) 42 B) 36
C) 45 D) 48

63. 63 HIGAT UF FHA & 30 e A U W FHhd ¢ 21 A 38 FA F fhaa ot #

A4) 170 B) 90
(C) 85 D) 88

64. TR 21a +21b=1134 AT AA &, aA a + b F AT Fa1 B2

A4) 29 B) 27
©) 58 | D) 54

65. I @ & 3 & drar, der & 7§ oahe, e 3T ¥ A, qer v o
Foredr, daelr @ 3§ wer § o il #F & Aea w9 @ @ s ar e

(A) e (B) @Ten
C) & (D) e
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60. What should come in place of the question mark(?) in the following number series?
8 20 50 125 7 781.25

(A) 300 B) 295.5

(C) 315 M) 3125

61. The population of a town is 189000. It decreases by 8% in the 1% year and increase by

5% in the 2 year. What is the population of the town at the end of 2 years?

(A) 193914 (B) 185472

(C) 182574 (D) 191394

62. ? % of 920 x 7.5 = 2898

A 42 (B) 36
€ 45 (D) 48
63. 63 men can complete a piece of work in 30 days. In how days can 21 men complete the

same piece of work?
A) 70 B) 90
(C) 85 (D) 88

64.  If the value of 21a + 21b = 1134, what is the average of @ + b?

A) 29 (B) 27
(C) 58 (D) 54
65.  If ‘green’ means ‘yellow’, ‘yellow” means ‘white’, ‘white’ means ‘red’, ‘red’ means ‘violet',

‘violet’ means ‘black’; then which of the following will be the colour of human bl ood?
(A) Red (B) Black
(C) Green (D)  Violet
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66. 7 A AN 12 FEF A FE R 48,250, 21 #aamasgﬁ'a‘?aﬂrmam%?
(A)  Rs. 96,500

(B) Rs. 1,25.500

(C) Rs. 1.44.750

D) 7 F F}E A&

WA A W & SR agT aF 50 eelder fr afy @ g AW ywedr arger Irr
w,mﬁﬁnﬂ/ﬁaﬁﬂﬁfﬁmﬁmlmmq@##mwmmm
| 3ES YRS T W e g qw 7

[#7]
=1

(A) 450 ferelY (B) 225 fRAY
(€) 900 famt (D) 3 § FI$ AL

68. W%ﬁﬁ?ﬁﬁmr@rﬁﬁluﬁﬁﬁmmﬁmmmﬁm

e Aaeafcaar €7
(A) 1176 B) 98
(C) 1216 D) 168

69. 6659a#qﬁaﬁm$mmﬁmﬁ@aﬁ#m#rmwﬁmsnﬁm

grfge?
(A) 230 (B) 65
(C) 98 D) 56

70. A, B, C,D ¥R E dfg &ANE §H HE&A¥ g1 I ‘A’ AR D & AT 162 &, o |l
| HEar3t &1 QT F4r g7

(A) 400 (B) 380
(C) 420 D) 410
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66.  The cost of 7 tables and 12 chairs is Rs. 48,250. What is the cost of 21 table and
36 chair?

(A) Rs. 96,500
(B) Rs. 1,25,500
(C) Rs. 1,44,750
(D) None of these

67.  Raman drove from home to a neighboring town at the speed of 50 kms./hr and on his
returning journey, he drove at the speed of 45 kms./hr. and also took an hour longer to

reach home. What distance did he cover each way?

(A) 450 kms. (B) 225 kms.
(C) 900 kms. (D) None of these
68. There are 7 dozen candle kept in a box. If there are 14 such boxes, how many candles

are there in all boxes together?
(A) 1176 (B) 98
© 1216 _ : D) 168

69.  Which of the following smallest number should be added to 6659 to make it a perfect

square?
(A) 230 B) 65
(C) 98 (D) 56

70. A, B, C, D and E are five consecutive even numbers. If the sum of ‘A’ and ‘D’ is 162,

what is the sum of all the numbers?
(A) 400 (B) 380
(C) 420 (D) 410
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A& (9. 71-76): Prfafa sy # g 1 3k g 3o &

T AR 3T A B, C, D, E F 3R G & & & Gog & a1 Heer-yent At 3d
HHER, FIGAR, JUaR, AR, GFAR, AR H MR & g Fadr ¢, e el
T & s A g e afa R Fuh & g Rt R § e s wa
A8 & 5w A g C N Ear # g & ik g7 TeREE REET # FH AT 8
C AR A & &g Faer a e & T Aok & o afFa e Remr & F5 F=ar
AT OF dc FEr B &1 Fao T IfFd # B & drg gEr e & AR v FfFT
AT fIHmT & F S &) B A o War 3R T & gFar & g Ferd &1 B IR D
& € &aer a1 it fr giat ¥ E & 9w q{d #$ gl @t € Rove D & v v
91 H| AT FAYA THET H FH F&A dTel H AR AT & F17 & ad F qid
T 3 e ¥ D Awe doree e & &1 G A €1 F & 99 G F A fF
sft o7 ofY 78T 81 & a B 3R & & F 3c9iee fasmmer & F1F Far g

71, TEeaRd 9T #F @ 9 UF ARed al% ¥ oA § 3R safee & o caaew &
HFER Th FAE o1 & Fefef@a 7 & Fi9 @ 37 wop § wafd a6 87

(A B - ® C ©) E O G
72. fArfaf@d & ¥ Fiq @1 39 e 1 fiar § T e G & gEr ¥
(A) TFUER (B) YA (©) vfEEr (D) R

73,  TenATaRd # ¥ Pl AWE GETGA AT F 1 A 87

A) E (B) B € G D) F
74. & 3% HEEAT F HUR R, @ 7 @ e A wyAT T 87

(A) S or@r AT F F AT ¢ 3HA AfAa FogEr g §

(B) E #r gHar & Ter &

(C) A AT FEYU AT F FH FAT

@) G IR F & &g Faor va afFq #1 gar Ao &

75. D Reafat@a & ¥ e femr 7 s aar 87

A) R B) oo () FeuTes D) @
6. e # @ Fi @1 g Afed ¥ @ w8 82

(A) FUER-B-3curest (B) WHAR-A-HAemSeT

(C) Yhar-F-orar D) RER-G-Rgor
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Direction (Qs. 71 - 76) : study the following information and answer these
question :

Seven people namely A, B, C, D, E, F and G have a holiday on seven different days of
the same week namely, Monday, Tuesday, Wednesday, Thursday, Friday, Saturday
and Sunday but not necessarily in the same order, Each person also works for seven
different departments of a company namely, Marketing, Production, Advertising, HR,
Online, Accounts and Maintenance not necessarily in the same order.

C has a holiday on Thursday and works in Maintenance department. Only two people
have a holiday between C and A. The one who works in online department has a
holiday immediately after A. Only one person has a holiday between B and the one who
works in Accounts department. B neither has a holiday on Sunday nor on Friday. Only
Two people have holidays between B and D. E does not have a holiday immediately
before or after D. The one working in HR department has a holiday immediately after
the one working in Marketing department. D does not work in HR department. F does
not have a holiday on any of the days after G. Neither B nor F works in Production

department.

71. Four of the following five are alike in a certain way and so form a group as per the
given arrangement. Which of the following does not belong to that group?

(A) B ' ®B) C ©€) E ' O G

72. Which of the following represents the day on which G has his holiday?
(A) Wednesday (B) Friday (C) Saturday (D) Sunday

73. Who amongst the following works in HR department?
A E B B © G M) F

74. Based on the given arrangement, which of the following statements is true?

(A) The one who works in Accounts department has a holiday on Saturday
(B) E has a holiday on Friday

(C) A works in HR department

(D) Only one person has a holiday between G and F

75. In Which of the following departments does D work?
(A) Advertising (B) Marketing (C) Production (D) Accounts

76. Which of the following combinations is definitely correct?

(A) Wednesday-B-Production (B) Monday-A-online
(C) Friday-F-Accounts (D) Sunday-G-Marketing
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PfRART T HR & YR 9T & weat (7. 77 - 79) & e} &l
UF e F 4 e S, 4 gl ¢ 3R 6 AN I E

7. R A I Ao v @ St o & o sEdr Far @ @ R 3AA @ F
FH TH Ao &2 :
(A) 613 (B) 7/13 (C) 8/13 (D) 9/13

78. TR Us g anftos w7 HEe ot ¥ o sud Far gHeer & R g ar @ o €
a1 e 82 |
A) 5/9 B) 179 - (©) 37 (D) 5/7

79. afe AT I axRors v A PFel I & O Far FHEeT £ F 39 § o g 3R
3= 2y el &2 ‘ '

(A) 15/91 ' (B) 24/91 - . (©) 20/91 D) 12/91

80. UF SAWCIANG 3IUMUT & 60 S F a1 UH T aoaT El UF W IYEOT &
62 s & dlc AT FAGT §| 391 Fag 10 9 U | A7 fFHar| 3ereh 9, #9
Jeg ¥ Jog U ATT &IT FHE? \

(A) ge§ 10.30 & (B) g 10.31 &
(C) gs§ 10.59 ¥t (D) g 11.00 Tt
81. aﬁ.'40%ﬁﬁﬁa|?ﬁm3ﬁfﬁ$%mqaﬁ%‘, 50% feqFareT esry wed § 3R
10% @t 3@aR ded §, af frder ufaera @er g st I@er a7 vea &2
@A) 10% B) 15% ©)  20% D 5%

82. U av RAFedl # & 995 BN A HifaT|
(A) DWHS . (B) BYDW
(C) CWFS | (D) EVJQ

83. U AT Ieall # & o vl H I F|
BADC : FHEG : : NPMO : ?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
84. KML:NPO::CED:?
(A) EGF (B) GHF
(C) FHG (D) HGF
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Answer these questions (Qs. 77 - 79) based on the following information.

There are 4 red balls, 4 green balls and 6 blue balls, in a box

77.  If two balls are drawn randomly, what is the probability that at least one of them 1is
blue

A) 613 B) 1713 (C) 8/13 D) 913

78 If one ball is drawn randomly, what is the probability that it is either red or blue
@A) 59 (B) 79 (O 37 D) 5/7

79. If three balls are drawn randomly, what is the probability that one of them is green and
the other two are blue? '

A) 1591 B) 24/91 - (© 2091 D) 12/91

80.  An electronic device makes a beep after every 60 sec. Another device makes a beep
after every 62 sec. They beeped together at 10 a.m. The next time, when they would
beep together at the earliest is: ‘ :

(A) 10.30 a.m B) 10.31a.m
(C) 10.59 a.m (D) 11.00a.m

81. If 40% of the Delhites read Times of India, 50% read the Hindustan Times and 10%
read both the papers, what percent of the people read neither newspaper?

A) 10% B) 15% ' C) 20% D) 5%

82.  Find the odd letter from the given alternatives?

(A) DWHS "~ (B) BYDW

(C) CWFS (D) EVJQ
83.  Select the missing characters from the given responses.

BADC: FHEG: : NPMO :? '

(A) RQTS (B) NTRC

(C) TRQS (D) RTQS

84. KML:NPO::CED :?
(A) EGF : (B) GHF
(C) FHG (D) HGF
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85.  ADGJ:MPSV::?: NQTW
(d) BEHK (B) EHKM (C) DGJIN (D) QTVZ
86. UPSET : SETUP : : TIPTOP - ?
(&) TOTPOP (B) TOTPIP (C) TITPOP (D) TOPTIP
B (7. 87-91): Ffafae s w1 e 0% R T T ¥ e &
F ARag #g &
‘Answer it right’ # ‘ba ja nu’ & &7 & f@r Fmar g
‘Where it is’ & ‘fiba to’ & &7 I for@r ST 8
‘right from here’ # ‘savija’ & &7 & for@r smar ¥ 3k
‘here she is’ ¥ ‘fisa ho & & & for@r ST &
87. @IS “nu” F FAT 3 §?
(A) here (B) right (C) answer (D) where
88.  ‘from’ & faw F T &7
(A) sa B) wvi ©) js (D) ba
89. ‘is' & fov e 7 87
(A) ba (B) to (C) £ D) ho
90. = ‘she’ &% fw e &4r §7?
(A) fi (B) sa (C) ho D) ja
91.  ‘sa’ & & FAT T 87
(A) here  (B) from (C) she D) right
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85, ADGJ: MPSV : 22 : NQTW
(A) BEHK (B) KHKM () DCGJN (D) QTVZ

86.  UPSET:SETUP:: TIPTOP 2
A)  TOTPOP B) TOTPIP ©) TITPOP (D) TOPTIP

Direction (Qs. 87 - 91) : Study the following information to answer the given
questions :

In a certain code

‘Answer it right’ is written as ‘ba ja nu’

‘Where it is’ is written as ‘fi ba to’

‘right from here’ is written as ‘sa vi ja’ and

‘here she is’ is written as fi sa ho’

87. What does the code “nu” stand for
(A) here ' (B) right (C) answer (D) where

88. What is the code for ‘from’?
(A) sa (B) wvi ©€) s (D) ba

89. What is the code for ‘is’? .
(A) ba (B) to (C) fi (D) ho

90. What is the code for ‘she’?
(A) fi -(B) sa (C) ho (D) ja

91, What does the code for ‘sa’ stands for?

(A) here (B) from (C) she (D) right

JSA2401 & JSA2402 31 Paper I


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

92. 3 & gedr i wEw wa Hfdw

A) 18 @) 20
©) 16 M) 19

93. TS 9 #1 &y Rufaar A @ 72 &) Fi7 @1 3F R{oda G fr 37 g@em?
2 6

A) 1 B 5 ‘ © 6 D) 4

94. maﬁ?ﬂ(?)é?mﬁwﬁﬂmﬁwqwg?
TR Hihs

O] -

Slaldla

(A) (B) © O

(A) A (B) B
© C . O D
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(Y] AN
Y Find out the number of civelos in the figure,

(A) 18

©) 16 @) 19
93. Two positions of a dice are shown below : Which digit will appear to the opposite side

face to

2 6
3 3
1 b

A) 1 B) b ©) 6 D) 4

94. Which is the correct one to replace the question mark?

Question Figures
olndl -

Answer Figures

OIA T A

(A) (B) (C) D)

A A @) B
© C M D
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95. fAfaf@d # @ &t & qudt @ et 872

o+ +|A A|O @) [= AV
oA =]1@) x|V +|O o) [=
x|V V| x ol 4+ X |V X |+
(1) (2) 3 “) (5)
A) 3 (B) 4
© 2 M) 5

96. TP @ TEUE Sl et A qU KT ¥

2| N4 B MA B

(1) @) 3) (4)

@A 1 B) 2
€) 3 | D) 4

97. ag fawou I o U v FAew i Fo-ofa § Fr Ao &

NUCLEAR
a BVECun

@ WNCTIEVE
@ WUCT3Ive
@ WNCIrEVE
@ 1 ®) . 2
(C) 3 D)
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95.  Which of the following is different from others?

@A 3

(©)

96.  Identify the figure that completes the pattern.

(A)
(©)

1
3

0=+ +|A A|O o]|=, AV
OlA =]l X |V +(O @) =
x[v| | [v]x] | [=]+ X |V x|+
(1 2 3 4) %)
(B) 4
D) 5

@ @)

B) 2
D) 4

@)

M M 1A B

4

GET IT ON
Google Play

97.  Choose the alternative which is closely resembles the water-image of the given

combination.

NUCLEAR

eY)
@)
3)
4)
(A)
©)

KVEICUU
UNCIEVE
NUCIr3vE
UNCIrevE

1
3

JSA2401 & JSA2402
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GET IT ON
Google Play

98. @ WA gl S aridmat @ e B
M © @ M
(A) 1 B 2
©) 3 my 4
3cat wgfadt # & v Igfy #1 wga w¢ A 9fw wEEm apfadt o a3
s@en ® iy @ (e 99 - 100) ¢
99. wAET o7 Ieat a7
5 N g A ¥ E{ x[ O C S“i
e WMir Y = N N
Aa B © D (E) 1y @ @ @
Aa) 1 (B) 2
© 3 (D) 4
100, #REN o= Feat
v/ - m A\ v/ \4 A4 v/ A\
C D|C D) DD (¢ C C C|C C|C CIC O
MW INC L Loy I CCiCC
A B © WDy (K VR B & R ¢
(A) 1 By 2
) 3 Dy 4

JSA2401 & JSA2402

Paper 1


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

= |V

Adda

98.

99.

Choose the figure which is different from the rest.

A 1

C) 3

)

%

]

(9]

(1)

@)

(3)

B 2

D) 4

4

GET IT ON
Google Play

Select a figure from amongst the Answer Figures which will continue the

same series as established by the five Problem Figures. (Questions 99 — 100) :

Problem Figures:
S N L X 1,.
t @ nic Y
a ® © O @
A 1
C) 3
100. Problem Figures :
A m m \ 4 \ 4
C D(C DD DD ¢ C
WO L[ LY
A) B (€) ) (E)
A 1
) 3

JSA2401 & JSA2402

Answer Figures

S

o

Sh

N

1) 2 3) (4)
B) 2
D) 4
Answer Figures
\ A\ \ \/
C C|C ¢(|C C|C O
C I
(1) )] 3 “ .
(B) 2
D) 4
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= 14 & fv e SPACE FOR ROUGH WORK
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